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01 A& HI 198,560 695,590 A 497,030
ondsla A 198,560,000 198,560
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O Eet==EH| 6,000,000 6,000
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301 et A= 3,863,792 3,955,472 A 91,680
= 2,398,877
= 505,364
Al 959,551

_24_




2N

B 88 U OIS=X MHA YSH(AME=X/2S - HEL0Y
SRl BSAHA B By EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MEIBEE 263 3,863,792 3,955,472 291,680
oOtgL=E===g & 3,863,792,000& 3,863,792
= 2,398,877
< 505,364
Al 959,551
Qs 2=0e01& X 6,000 0 6,000
< 6,000
307 21201 A 6,000 0 6,000
< 6,000
10 A2l =S X2 X 6,000 0 6,000
OduER+=0He0d XA 6,000,000& 6,000
< 6,000
A Ay 235 25,000 10,000 15,000
307 21201 A 25,000 10,000 15,000
04 QIZIHAIB XS 25,000 10,000 15,000
OEsuwXA stitEUa (Hd&s, MEUs S)
2l X& 25,000,000 25,000
HHEOOH s B2 29,921 23,514 6,407
< 20,945
Al 8,976
301 et A= 29,921 23,514 6,407
< 20,945
Al 8,976
01 MEIBEEE 2053 29,921 23,514 6,407
OHIZHoL &= B2 29,921,000& 29,921
< 20,945
Al 8,976
SHELM AtSISXEe Helold XA 11,384 0 11,384
= 5,692
< 2,277
Al 3,415
307 21201 A 11,384 0 11,384
= 5,692
< 2,277
Al 3,415
10 A2l S X2 X 11,384 0 11,384
OsHELM ME=XYE Hlold X
11,384,000 11,384
= 5,692
< 2,277
Al 3,415
Ol 0lAO0E & ™ XZO0l MHIA ASEAMY 11,332 0 11,332
< 5,666
Al 5,666

_25_




HHD >
0 Ho tor

=X
al

=

A Bl

= X

j==g==)
==

HALSI =R/ 2

> 2w
tol

MHIA &
¢

A
o

o A

PN
=2

0
M
M
Ha

0x

SN FH-SA(EN) - MBAY - BES

Off &t 24

=
i

2

307 21201 A

= M

11,332

5,666
5,666

10 AFBISXIE2X

OUEO0IACIE o™ XI&A0l MHIA ASAME
11,332,000&

=

11,332

11,332

5,666
5,666

11,332

Y
=
L)
0x

= H AL W

2,936,648

664,642
485,516
890,637
895,853

2,909,769

26,879

= M

46,880

17,968
28,912

46,880

= M

46,880

17,968
28,912

46,880

13,440,000&

OJIEES0ts M==Hl XI&(56ACH)
7,840,000

6,400,000

OR=¢l gl20ts S ANHl XA (THICH)
16,800,000&

= H

H

Al

= M

= M

= M

46,880

13,440

5,376
8,064

7,840
2,352
5,488

2,400

960
1,440

6,400

2,560
3,840

16,800

6,720
10,080

46,880

o

O
it}

AHl X &

= H M

1,310,400
315,738
678,924
315,738

1,306,964

3,436

= H AL

1,310,400
315,738
678,924
315,738

1,306,964

3,436

_26_




AN ALEI =X
Ot

3y =2

x O
J
Pl
x
=
I>
o
ol
=
tor
Ji
Pl
H
10
¥
i
o
=
0x

kel Ot

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

=R 1,310,400 1,306,964 3,436
ZAH X 1,310,400
5.gss s4xd 701,640,000 701,640
315,738
70,164
315,738
oBt)|E stM ZANY 608,760,000 608,760
608,760

= H M

H

Ot 22 XI& A = 34,702 47,401 A12,699
24,291
5,205
5,206

= M H

301 AP A2 34,702 47,401 12,699
24,291
5,205
5,206

=z N H

S>3 34,702 47,401 A12,699
OO0tsZE Xl & A =t 22,897,000& 22,897
16,028
3,434
3,435
O=2+=30ts 11,805,000& 11,805
8,263
71
1,771

= MW

= N H

gla0ts MHEEHS XE 12,000 9,000 3,000
= 1,200
Al 10,800

301 LEE A Z 12,000 9,000 3,000

5= 1,200
Al 10,800

=06l 12,000 9,000 3,000

12,000,000 12,000

= 1,200
Al 10,800

H

,000

Elx0tS X 2,000 2,000 0
1
Al 1,000

301 2EE A= 2,000 2,000 0

1,000
Al 1,000

H

2 & =063 2,000 2,000 0
OElA0OtS XHE FHEH XN (2Y)
2,000,000& 2,000

< 1,000
Al 1,000

_27_




2N
X ZH -
L= B

el

I
B
9
I
It

0x

Off &t 24

=

i
2m

H

Al

33,120

23,184
9,936

38,700

H

Al

33,120

23,184
9,936

38,700

A5,580

0LAOIE dESE XA (23Y)

33,120,000

= H

33,120
33,120

23,184
9,936

38,700

5,580

=z N W

414,270
207,135

82,854
124,281

390,656

23,614

307 giztol &

= N W

414,270
207,135

82,854
124,281

390,656

23,614

10 Al SX2x

OXAOotsSHEHZFI2EH (HE

0

5

o

OXNSOISHHER2EH|

=]
OXZOtSHEH 29H X (7HA)

364,800,000&

S I
S o
o —

o

20,670,000&

= Hn A

= W

= N

414,270

364,800
182,400

72,960
109,440

28,800
14,400
5,760
8,640
20,670
10,335
4,134
6,201

390,656

23,614

= M

41,600

20,800
20,800

31,200

10,400

in

Al

41,600

20,800
20,800

31,200

10,400

41,600,000

= M
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= 12,000
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09 &AL HI B &S 39,200 18,000 21,200
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Al 10,207
10 A3 =X 2 X 68,048 40,200 27,848
OZN&ES0ts XZJIHY AMHlA 68,048,000 68,048
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OCCTVAI & ZHI S XIHI (81 A) 9,600,000& 9,600
ONE0lY A HiMHABSH = 1,500,000 1,500
03 Al H HI 2,000 2,000 0
OONe ol A 2&EHI 2,000,000& 2,000
301 et A= 7,000 8,000 A 1,000
09 HAIAHI BAZ 7,000 8,000 A 1,000
OSSN AIESAIA g A AHEA
1,000,000 1,000
OFUHESO0IS HEHA 2HAX AHEA
3,000,000 3,000
OltsuNs A AdH B4 1,500,000 1,500
O30S U3 EAX AHEA
1,500,000 1,500
307 2Iz2to| & 28,000 25,000 3,000
10 SIS X EX 28,000 25,000 3,000
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& 17,834
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= 120,293
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Al 169,090
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OXIHRY 2222 ¢ el X
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= 120,293
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Al 250

_32_




AN ALEI =X
Ot

M B8] 2 0ls=EX MUlA 2 (MISX/ES - HELAHY)
el OtSAMSTY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ANEots ey el XI& 7,000 0 7,000
< 2,100
Al 4,900
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFAY Rollerd ZAIE 2EH XN&
5,000,000 5,000
FEAHISRE2IAE 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
10 AtEI =X 2 X 20,000 20,000 0
oOF3AYE Z2RY 2EXNE 20,000, 000& 20,000
FaE RollEd A 22 2,266 2,266 0
= 1,133
< 1,133
307 21201 A 2,266 2,266 0
= 1,133
< 1,133
10 A3l =S X2 = 2,266 2,266 0
OFAY Roll&rd ZAIYE 2sH X2
2,266,000 2,266
= 1,133
< 1,133
A8 HAIIRQUS 9,000 9,000 0
307 glz2+ol & 9,000 9,000 0
04 QIZtHAIE XS 9,000 9,000 0
OFAYE HWAIIR BAU #AXE
9,000,000 9,000
FAE =EHAE X 698,652 618,755 79,897
J| 23,890
Al 674,762
SSELAE AL FAEXET A BRI K& 38,880 38,880 0
J| 19,440
Al 19,440
307 glz2+ol & 38,880 38,880 0
J| 19,440
Al 19,440
05 RIZHRIE 3 38,880 38,880 0
OFAYE AL HEAE XT A BIXI
38,880,000& 38,880
J| 19,440
Al 19,440
23 AU SEAE Z208 23 8,900 9,000 A 100
J| 4,450
Al 4,450
307 gl2tol & 8,900 9,000 A 100
J| 4,450
Al 4,450
05 RIZERI & 3 8,900 9,000 A 100

_35_




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFAaYE =232 ¥ T2)Y =29
8,900,000 8,900
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AL 29 20,000 20,000 0
201 LBH2d| 10,000 10,000 0
02 3322l 10,000 10,000 0
OFAESHAE 29 10,000, 000 10,000
405 TtabF S| 10,000 10,000 0
01 AL EFSFHSHI 5,000 5,000 0
O3t & % 23 =235+7¢
5,000,000& 5,000
02 TN 5,000 5,000 0
0252 T U 2FMEH THTL
5,000,000& 5,000
FAEAE 22 630,872 550,875 79,997
101 14l 13,208 13,980 ANTT2
4 D122 E2EXREES 13,208 13,980 ATT2
oFAd&EH2e 11,958
ool 41,6803 1 2152 8,962
oFXtsg 41,6803 1«30 1,251
oIt 41,6803 110 417
oxUHIS 4UHEER 10,213,000 *13% 1,328
OFAEA4H FHI 1,250,000& 1,250
201 £B-2d| 7,000 7,000 0
01 At 22l 5,000 5,000 0
O et H| 5,000,000 5,000
02 2324l 2,000 2,000 0
O=s=R=Z A 2,000,000 2,000
307 gl2tol & 535,664 489,895 45,769
05 BIZHRI & 3 535,664 489,895 45,769
OFAUZSIHH RIZRAESZ 535,664,000& 535,664
401 Al HIZ 201 8] 60,000 30,000 30,000
01 A& HI 60,000 30,000 30,000
OMEAIEAE2SIHH 228
30,000, 000& 30,000
OMEAIEAE2SIHH WHEY 4
30,000,000& 30,000
405 XHoHF S HI 15,000 10,000 5,000
01 et EZFH S 10,000 5,000 5,000
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OFadxgR & 232 & =25 #<
10,000, 000& 10,000
02 = A=l 5,000 5,000 0
OFAYEEHZ TN 5,000,000& 5,000
FAadE HF0A 24 561,717 531,894 29,823
J| 187,657
< 148,163
Al 225,897
Fad ES - AEAZAY 11,183 11,183 0
< 3,425
Al 7,758
201 Let24d] 1,600 1,600 0
< 480
Al 1,120
01 At 2teltl 1,600 1,600 0
OFALE BESHZAY X 1,600,000& 1,600
< 480
Al 1,120
301 et d=s 9,583 9,583 0
< 2,945
Al 6,638
09 SALAHIEA S 1,500 1,500 0
OFA2HE BESHIAY NA 1,500, 000& 1,500
< 520
Al 980
MIEE43 8,083 8,083 0
OFAYE NEAY ESH(THSS)
8,083,000 8,083
< 2,425
Al 5,658
o4 SENFMEH 22 90,000 86,000 4,000
< 5,000
Al 85,000
307 21201 A 90,000 86,000 4,000
< 5,000
Al 85,000
05 RIZt2IE = 90,000 86,000 4,000
OFAY SEXNJAUH &4EE =29
90,000, 000& 90,000
< 5,000
Al 85,000
SINEAMZAERA2I 13,220 13,220 0
< 6,610
Al 6,610
307 21201 A 13,220 13,220 0
< 6,610
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Al 6,610
05 RIZt2IE = 13,220 13,220 0
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S 6,610
Al 6,610
Hdad SEXNEMA 22 126,800 130,000 A 3,200
J| 63,400
Al 63,400
307 gl2tol & 126,800 130,000 A 3,200
J| 63,400
Al 63,400
05 BIZHRIE 3 126,800 130,000 A 3,200
OFA~Y SEXNIMH 258 294
126,800,000 126,800
J| 63,400
Al 63,400
ELHLERSHH 29 140,000 117,000 23,000
J| 70,000
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307 21201 A 140,000 117,000 23,000
J| 70,000
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05 BIZHRI & 3 140,000 117,000 23,000
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J| 70,000
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J| 34,257
< 17,128
Al 17,129
307 glz2tol & 68,514 124,491 AB5,977
J| 34,257
< 17,128
Al 17,129
05 RIZIRI &3 68,514 124,491 AB5,977
OFAYE SHHEZZONY 29 68,514,000 68,514
J| 34,257
< 17,128
Al 17,129
F28X&E 220= 2,000 0 2,000
< 1,000
Al 1,000
307 21201 A 2,000 0 2,000
< 1,000
Al 1,000
10 AFRISXIE X 2,000 0 2,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFAEXNE RFRU= 2,000,000 2,000
< 1,000
Al 1,000
FaES02I XA 10,000 10,000 0
J| 4,000
< 3,000
Al 3,000
307 21201 A 10,000 10,000 0
J| 4,000
= 3,000
Al 3,000
10 A2l =S X2 X 10,000 10,000 0
OFAHSOI2I K& (100 s0t2l) 10,000,000 10,000
p] 4,000
< 3,000
Al 3,000
dA4E 2oE 23 XA 40,000 40,000 0
J| 16,000
< 12,000
Al 12,000
307 glz2tol & 40,000 40,000 0
J| 16,000
= 12,000
Al 12,000
10 AtSI =X 2 X 40,000 40,000 0
OFAYE 23E 2D (1) 40,000,000& 40,000
J| 16,000
< 12,000
Al 12,000
StWoMe deldns 29 X& 60,000 0 60,000
< 30,000
Al 30,000
307 21201 A 60,000 0 60,000
< 30,000
Al 30,000
05 RIZt2IEt = 60,000 0 60,000
O DOUAS HUADE SN
60,000, 000& 60,000
= 30,000
Al 30,000
FAaE Aeld 166,500 165,000 1,500
J| 83,250
< 24,450
Al 58,800
FadE HFHA}S 29 3,500 3,500 0
J| 1,750
Al 1,750
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= M
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307 21201 &

Jl

= M

163,000
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167,500

5,500

163,000,000&

=z N

163,000

163,000
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= [l
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= [l
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AEEX2 249 X
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= HI
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101 @124 dl 15,515 14,468 1,047
04 DIt Z2REE S 15,515 14,468 1,047
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Al 11,930
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OFZEgAs=ENNZ 29 45,180,000 45,180
& 22,590
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820

, 150

301 gEtE A=

= HI

32,160

16,080
16,080

32,

000

160

2ASE

2,160,000&

= [l

32,160

32,160

16,080
16,080

32,

000

160

0]
b
i

334,170

,000

124,170

334,170

,000

124,170

334,170

,000

124,170

334,170

,000

124,170

334,170,000&

334,170
334,170

,000

124,170

= MW

186,718
79,254
2,772
104,692

,579

6,139

= M W

91,878
79,254
2,772
9,852

89,

2,259

e
Ju
H0
02
=

= W

91,878
79,254
2,772
9,852

89,

2,259

= W

91,878
79,254
2,772
9,852

89,

2,259

03 I HL22 I
ools=ExNHLD=2
EXY)

SPIEr=

4

MHIA X (EZBAE

49,038,000

91,878

71,038
49,038

89,

2,259
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S AE= XD
e #HSAAH(MSZXD)(OIEH/IIE)
oo olze

02 0

ol ]l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 49,038
o (4 H] 3,600,000 3,600
= 3,600
o A2t =& 4,080,000 4,080
= 4,080
cAfEE = 9,600,000& 9,600
= 9,600
o Mo FAY| 2,400,000& 2,400
ocnEEXH| 720,000 720
o HAEFIHYI 1,600,000& 1,600
OSHEUSEIME(Lo=SEI2AMHIA) 20,840
o Ol 21 H| 18,480,000& 18,480
= 12,936
= 2,772
Al 2,772
o M FAlY| 1,200,000 1,200
ocnE&E x| 360,000 360
o H&EF Y| 800,000 800
JlE&dd| 94,840 90,960 3,880
Jl2 &4l 94,840 90,960 3,880
201 LBt 10,000 9,000 1,000
01 AP 22| H| 7,000 6,000 1,000
OBt =2H| 7,000,000& 7,000
02 23244 3,000 3,000 0]
OZ22=22H A 3,000, 000& 3,000
202 o4 H| 80,640 77,760 2,880
01 2Ll 80,640 77,760 2,880
O2U=& 0l 240,000 x28H x 122 80,640
203 €2 F&d| 4,200 4,200 0
04 EASHEIRFEH| 4,200 4,200 0
OFMSY YRFA&H| 350,000 x12& 4,200
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